Name answer key Date

DECOMPOSITION REACTIONS

In decomposition reactions, one compound will break down into two or more parts.

1. iron(II) hydroxide --> iron(II) oxide + water
Fe(OH)> --> FeO + H>0

2. nickel(Il) chlorate --> nickel(Il) chloride + oxygen
Ni(ClO3)z --> NiCl: + 30,

3. sodium chlorate --> sodium chloride + oxygen
2NaClO; --> 2NaCl + 30

4. carbonic acid --> water + carbon dioxide
H2CO3 --> HzO + CO;

5. aluminum oxide --> aluminum + oxygen
2Al:03 --> 4Al + 30>

6. barium carbonate --> barium oxide + carbon dioxide
BaCOs; --> BaO + CO»

7. magnesium carbonate --> magnesium oxide + carbon dioxide
MgCO; --> MgO + CO,

8. potassium carbonate --> potassium oxide + carbon dioxide
K2CO3 —-> K20 + CO2

9. silver oxide --> silver + oxygen
2Ag-0 --> 4Ag + O3

10. zinc hydroxide --> zinc oxide + water
Zn(OH); --> ZnO + H,0

11. potassium chlorate --> potassium chloride + oxygen
2KClO3 --> 2KCI1 + 30,

12. sulfuric acid --> water + sulfur trioxide

H2>S04 --> Hz0 + SO3




